
Minusrechnen (bis 100 000)

Aufgabe 1

1. 50 980 - 35 535 =   

2. 92 620 - 38 395 =   

3. 93 584 - 36 577 =   

4. 30 003 - 26 689 =   

5. 87 090 - 56 131 =   

6. 35 342 - 22 007 =   

7. 58 163 - 51 615 =   

8. 89 623 - 87 606 =   

9. 68 590 - 55 467 =   

10. 90 783 - 80 128 =   

Aufgabe 2

1. 79 782 - 29 634 =   

2. 94 496 - 76 609 =   

3. 68 131 - 58 962 =   

4. 33 413 - 24 333 =   

5. 54 764 - 29 082 =   

6. 92 444 - 88 785 =   

7. 52 868 - 15 625 =   

8. 62 613 - 17 961 =   

9. 48 878 - 16 877 =   

10. 60 872 - 13 888 =   

Aufgabe 3

1. 85 677 - 59 166 =   

2. 91 732 - 24 833 =   

3. 71 908 - 66 882 =   

4. 87 064 - 34 761 =   

5. 86 186 - 22 852 =   

6. 77 554 - 15 680 =   

7. 82 666 - 45 710 =   

8. 77 451 - 68 882 =   

9. 84 375 - 62 530 =   

10. 74 621 - 48 949 =   

Aufgabe 4

1. 86 883 - 29 231 =   

2. 70 137 - 15 202 =   

3. 34 929 - 33 629 =   

4. 27 770 - 10 903 =   

5. 92 787 - 73 409 =   

6. 60 352 - 29 366 =   

7. 41 468 - 26 948 =   

8. 58 880 - 42 590 =   

9. 55 320 - 39 843 =   

10. 95 338 - 81 131 =   
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Minusrechnen (bis 100 000)
| ANTWORTEN

Aufgabe 1

1. 50 980 - 35 535 =  15 445

2. 92 620 - 38 395 =  54 225

3. 93 584 - 36 577 =  57 007

4. 30 003 - 26 689 =  3 314

5. 87 090 - 56 131 =  30 959

6. 35 342 - 22 007 =  13 335

7. 58 163 - 51 615 =  6 548

8. 89 623 - 87 606 =  2 017

9. 68 590 - 55 467 =  13 123

10. 90 783 - 80 128 =  10 655

Aufgabe 2

1. 79 782 - 29 634 =  50 148

2. 94 496 - 76 609 =  17 887

3. 68 131 - 58 962 =  9 169

4. 33 413 - 24 333 =  9 080

5. 54 764 - 29 082 =  25 682

6. 92 444 - 88 785 =  3 659

7. 52 868 - 15 625 =  37 243

8. 62 613 - 17 961 =  44 652

9. 48 878 - 16 877 =  32 001

10. 60 872 - 13 888 =  46 984

Aufgabe 3

1. 85 677 - 59 166 =  26 511

2. 91 732 - 24 833 =  66 899

3. 71 908 - 66 882 =  5 026

4. 87 064 - 34 761 =  52 303

5. 86 186 - 22 852 =  63 334

6. 77 554 - 15 680 =  61 874

7. 82 666 - 45 710 =  36 956

8. 77 451 - 68 882 =  8 569

9. 84 375 - 62 530 =  21 845

10. 74 621 - 48 949 =  25 672

Aufgabe 4

1. 86 883 - 29 231 =  57 652

2. 70 137 - 15 202 =  54 935

3. 34 929 - 33 629 =  1 300

4. 27 770 - 10 903 =  16 867

5. 92 787 - 73 409 =  19 378

6. 60 352 - 29 366 =  30 986

7. 41 468 - 26 948 =  14 520

8. 58 880 - 42 590 =  16 290

9. 55 320 - 39 843 =  15 477

10. 95 338 - 81 131 =  14 207
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